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22103504DEF DEF
22201435)DEF DEF
22202918||DEF DEF
22203795 12,935|ADM
22203996DEF DEF
22204952 11,363|ADM
22205294 12,264|A)
22206122 11,95(ADM
22207453)DEF DEF
22207550)DEF DEF
22209086DEF DEF
22300149 13,464|ADM
22300380 14,168(ADM
22300532||DEF DEF
22300578 12,035|AJ
22300922 14,768(ADM
22300963|DEF DEF
22301021)DEF DEF
22301251 12,829(ADM
22301369 13,622(ADM
22301487 12,921(ADM
22301871 12,159(ADM
22301906 12,62|ADM
22302300DEF DEF
22302346 12,387|ADM
22302960DEF DEF
22303102 12,142|A)
22303229 15,914(ADM
22303343 13,955(ADM
22303478 13,541(ADM
22304271 11,786|ADM
22304299 10,862|AJ




22304505 10,756|A)
22304955 11,751({ADM
22305026DEF DEF
22305045 14,111|ADM
22305084 14,618(ADM
22305351 13,415|ADM
22305402|DEF DEF
22305583|DEF DEF
22305926|DEF DEF
22306054 DEF DEF
22306502 11,945(ADM
22306611 12,463(ADM
22306652DEF DEF
22306924DEF DEF
22306963 10,414|A)
22307027 12,248(ADM
22307141DEF DEF
22307240] 13,663(ADM
22307301DEF DEF
22307312 14,725(ADM
22307513 12,979(ADM
22308052DEF DEF
22308251 13,247(ADM
22308271 13,979(ADM
22308538 12,33|ADM
22308699 12,038(ADM
22308929|DEF DEF
22308949 12,694|A)
22308982|DEF DEF
22309045

22310757 14,023(ADM
22405135 14,95|ADM





























































